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ENGLISH

Fill in the blank with appropriate breposition (Q.14):

1.

He was in a hurry and just glanced the letter.

(a) over (b) at

(c) through (d) upon

The superstitious persons believe in many rituals toward evils.
(a) against (b) off

(c) of (d) out -

There is no limit the wants of man.

(a) to (b) for

(¢} in (d) of

Cold climate is conducive working conditions of man.
(a) for - (b) on

(c) upon d to

Fill in the blanks with appropriate verbs (Q.5-8):

5.

The bridge up by the terrorists only last week.

(a) bilowed (b) was blowed
{c) was blown (d) was blewed
. We observed that the thief :
(a) chased (b) was being chased
(¢) was chasing _ (d) had been chasing
Never that he would treat me shabbily. |
(a) didl dream (b) Idreamed
(¢) had I dreamed (d) haveIdreamed

Please see that the patient . ,
(a) does not disturb (b) is not disturbed
(c) was not disturbed (d) has not been disturbed

Complete the sentences by choosing from the alternatives given below each sentence (Q.9-12) :

9.

10.

L

A politician’s speech must be read the lines; it may have a double

(a) behind; edge : (b) between; meaning
(c) among; ends . (d) beyond; face
There is no glory in war the blood it

(a) considering; sheds (b) comparing; spills
(c) worth; costs (d) thinking; demands
He lives in the world of

(@) delusions (b) conclusions

(c) allusions (@) illusions
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12. In one election after anofher, officers have been guilty of serious___ of duty.
(a) lapses : : (b) carelessness
(c) dereliction _ , (d) abandoning

Choose the correct meaning of the underlined idiomatic phrase (Q. 13-15) :
13. The boy turned a deaf ear to the pleadings of all his well-wishers.

(a) listened carefully (b) was deadly opposed

(c) posed indifference (d) did not pay any attention

14. At a party, he is always in high spirits.

(a) talkative , (b) cheerful

(¢) drunk ‘ (d) uncontrollable
15. There is no love lost between the two neighbours.

(@) a close friendship (b) intense dislike

(¢) alove-hate relationship (d) cool indifference

Choose the word which is nearest in meaning to the underlined words given below (Q. 16-20) :
16.  Percolate '

(a) closing (b) secp

(¢) perilour (d) deem -
17. Diabolical
- (a) fiendish (b) contemptible

() burlesque - (d) approving
18. Intrepid

(a) brave (b) supportive

(c) favourite _ ~ (d) trembling
19. Sporadic

(a) regular - (b) congealed

(c) expensive (d) intermittent
20. Loath : o

(a) |hate (b) dislike

(c) reluctant ~ (d) willing

Choose the word which is opposite in meaning to the underlined words given below (Q. 21-25):
21. Maverick '

(a) abnormal : (b) individualist

(c) pluralist (d) conformist
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22,

23.

24,

25.

Repellent

(a) demanding (b) inviting
(c) disgraceful (d) entailing
Fidelity :

(a) allegiance (b) accuracy
(c) disloyalty (d) strictness
Hazardous

(a) safe (b) perilous
(c) dicey ' (d) dodgy
Surface

(a) dive (b) rise

(c) outpour : (d) emerge

Choose the sentence which is correct (Q. 26-28) :

26.

27.

28.

(@)
®
(©)
(d)

(@
)
©

@

(a)
(©

A series of incidents have taken place.

It is a five-men committee,

From which train did you come ?

This pronunciation is peculiar to Bengalis.

He is wiser than brave,

February has less days than January.

He takes no less than two litres of milk everyday.

It is the most unique piece.

1 was asked to stop writing. (b) She denied to go with me.

My hairs stood on end. (d) Iam reading this novel for four days.

- Choose the wrong sentence from the choices given for each quwtlon (Q- 29& 30) :

29.

30.

(2)
(b)
()
@

(a)
(b)

ON
d

Copy it word by word.
She is out of doors.
She prides herself on her wealth and beauty

The dirty old man was repugnant to me.

The dacoits robbed my belongings.
The first two pages of this book are tom.
He came to us every third day.
He atoned for his sins by giving alms to the poor.
4 Paper-I (Aptitude Test)



31.

32.

33.

34.

3s.

36.

37.

PUNJABI

3o fsi Ft 2 wi fxoE e &3 AT 9 2

(a) fad - (b) B
() ® . @
I5 o) maet & nid A3 33 AEET J ¢

afss, mfeor, @, U3
(2 8y - @ fom
() nE (d) g
ﬁsfﬁﬁm&?%a&?ﬁasfuéaaﬂé’r?f? '
(a) ¥ b 3
(c) wiEl @ =
PRITE § YT A4

A 99 & gt "R
(@) A | (b) &
() Bt @ &
A3 HET gEA MUE & YT AS ¢

Sy fir w@R w ___ funr TR
@ T (b) 9
(c) fomr ' @ fmr

%%méﬁa%%nﬁaﬁw&@aﬁ,zﬁaﬁzémﬁ:
(@ fE s -8 fwdt (b) FPIT - 2H a3
© T53% - g3 () o83 I - mEeS

%WW&%W@EW@M&B%?" ,
(a) P ol mfaa farr AL | () W@ faerr A
(©) ﬁ@%’fﬁmﬁm%wﬁwzﬁ S () i Ags AT |
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38.

39.

40.

41.

42.

43.

45.

46.

Uarsht & QusTET at -

(a) W=t (b) UG
(c) H®==t (d) I
fam 3z @ mge-H3 A 75 ,
(a) Tumr3/aumist OBREESUESSI
(c) TEBu/f58dt (d) UM
HIt Haé—ﬁ.‘-s % JE I
(a) AHAGT (b) uf3@9
(c) IHAI (d) I
fan mae v Ase-A3 A &t 39
(a) fo3s (b)
(c) BaE (@ wI9
 for mEE @ vidl fBE g Bt o g9
(a) SHIT-IH (b) IFITI-TH
() TTUSH-9T o Ims d) f&35-33 fds o
 fan B @ Age-T9 At &t a9
(a AR : () f‘e@a
(© Higar () o
I foxr fog faas fonids st 3 9
(@ ¥ : b =
9 & @ =
I5 Bhmft foF fenis D
(@ = b s
© ® @ =
3l AT g3 T YT AT
an*f%nrf T FEs J fonigg &t Tt |
() U - (b) B3
(o) fuae3 d) wmH
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47, 3% FEC 9EA TA YT W ¢

AT 3 niu Fanaramt § widaret ____ feST
@ b) a3

() H® @ I

48. B UFeT 5 T YI' AT

feo Nt fazm 3 3

(@ feo ' () "3

() fosit @ frodt
49, TIYT IS :

gﬁmﬁuﬁm@%uafaws gderd |

(a) T&I (b) Uz

(c) Far d) TII

50, &l HUU & & T YT A ¢ .
w%ﬁ#ﬁwﬁkmﬁﬁﬁa___m% |

(@ © ®) T
© = | @ 3

51, ufa-fersdia e faoar e At &3t 32

(a) F3MsE . () aTEII/TE
(c) TIR/EIA (@) UTSATE

52. e I foime i@ & Joor fa3 e @ At Y Y ?
(@) TP (b) T5:35 .
(c) F9:FIe : (d) WSA : nfEA

53. B fxfanr 5% TK YI' & ¢

aﬁ@arﬁmﬁﬁﬁna__%-l
@ dfamr ® w8
() fowrd | (d oo famrr
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55.

56.

57.

38.

59.

feust o9’ fudis nigat e 2 9 -

(@) Tu/BA ) Hevaws
(¢ /g (@) TrEmeTs
35 e o= few yorea uTr a9 ¢
T B PITUET HIHE YT TG o ST Tt oot |
(@) TT b) &
(c) upr ‘ @ <3
I3 58 T fou yoreT yT 79
AEl 3 Ast Aot et Es @ Dty g for
(@ 9 () dswr
(¢) &t (d gz

%m'w&gwwm&wwaﬁ:
B@ﬁ@éyﬁa%ﬂaaﬁ’fﬁn@@ﬂ%w%___w&éf% |

(@ oS b e
() UG , (@ TuzT
X YT 9 _
wwm@w___mwen :
@ feis . ) fe3d
(¢ freuz (d fRedw
T YT TS : |
frds R a3 Bz ot oA W RR ___ Yae
@ IEIHed b 3R
€ Farsa ' @ JmEa
TIYT I : |
iV % J9 It niar @ fex 93t 3 oty &= &t 9% ¢
@ ¥ (b) 3
(© aIm3 (@ =
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61.

62.

65.

- TEACHING

Which of the following is the last level of cognition according to Bloom’s Taxonomy ?

(a) Evaluation " (b) Analysis

(¢} Comprehension (d)  Application
agnéaﬁwﬂ»@maaafﬁ%»ﬁféﬁffawmﬁm@ﬂg?amﬁua%
() HIHAE ®) femdRE

(¢) TUIES . (@) femow

Which of the following research gives immediate solution to the immediate problem ?
(a) Fundamentat research (b) Applied research

(c) Descriptive research ~ (d) Action research

Jost fafamit 13 5t i 33T Ffim T 33 I fé 9

(a) e IH | (b) feoaa HR

(c) TITEIHA A ' (d) v ER

What is MLL approach ?

(@) Maximum Level of Learning (b) Minimum Level of Leamning
() Minimum Level of Listening (d) Maximum Level of Listening
MLL g% =ik _ :

@ wifs T @ Uug (b) wifos w f5@asH Uag

() BT falasr dus @) B35 GUsH Ume

Learning, in which each individual contribute their particular expertise to a shared learning
history, is often called as '

(a) Co-operative learning (b) Inter-disciplinary learning

(c) Distributed leamning ' (d) Experiential learning
WW%WMW&&MWFWMW%Wi
AT capccil '
(a) Rfgart ffr (b) wiza-ferr a3g ffaor

() fezrfviz o (d) yGarsHa fHftmr

What is the role of the teacher according to the Constructivist perspective ?
(@ Role of an advisor (b) Role of classroom manager

() Roleofa friend (d) Role of a facilitator '

OIS WRRAE & AT w2 ot ZhE 1 _

(@) foa Fooard € giHar () 7S E =

(¢ f fitza & ghiar (@) f¥a Agss ¥ TS & ghiar
At which level of teaching an idea can be critically examined ?

(a) Knowledge Level (b) Understanding Level

() Reflective Level (d) Application Level
mﬁnmm%ﬁﬂﬁw‘%ﬁaﬁ@aammaﬁ?wwa?
(a) fomis 2 oe ‘3 () FHS UTE ‘3

(c) Fifim du9 ‘3 @ feoe Uwe ‘3
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67.

69.

70. .

Self regulatory knowledge includes elements of

() Formal Knowledge - (b) ‘Informal Knowledge
() Impressionistic Knowledge (d) All of the above
R-eefE s s d ¥z mhm e T

(a) Bugaa fomrs - ) mIBuTTIR famrs
(c) Y=t fomrs (&) SuSa3 A

Discussion in the class will be more effective if the teacher

(a) participate enthusiastically

(b) informed the students about the topic in advance

(c) write the topic of the discussion on the blackboard

(d)  does not introduce the topic to the students in advance

AHT3 3T fegg-seiesr @9 ygrermst 33ar 359 miftug -
(a) €3°9 s A dor d '

(b) fefanradt § folr a3 ufost ¥R RS 3

(09 feure-zeied 2 feh € 9Ba-8us 3 fr D

(d) fefonmaeinit & fei &7 ufsst 3* A adt ee@or 3

Maxim, according to which the children should be taught about which the children already
have some knowledge is known as .

(a) proceeds from whole to part
(b) proceeds from particular to general
(c) proceeds from known to unknown

(d) proceeds from analysis to synthesis

m,mmmgenww@ama,mmmgmags

(8 ™93 83 m Juz (b) feBR 3 Auas 3@ Fgar
(¢) udifes 3 npufefos 3w Sa (@) ferdrz 3 ARdnz 3 Yo

When a teacher uses gestures, or some other behavior to reinforce students’ learning,
he/she uses '

(@) Positive verbal reinforcement (b) Negative Non-verbal reinforcement
(c) Negative verbal reinforcement (d) Positive Non-verbal reinforcement

H?»Mﬁﬁ»mﬁnﬁ%@mmﬁéaﬂmmsﬁﬁa?#gsﬁaﬁem@?qﬁm
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71.

72.

73.

14,

75.

Which of the following is not the objective of the Programmed Instruction ?
(a) To complete the syllabus as early as possible

(b) To help the students to learn by doing

(c) To help the students to learn at his own pace

(@ Tohelp the students to study by himself

St fofanit 55 fooa Gramdy fogert o BeF &dt 31

(@) U figt wEe AsT & A] U &35

Oy fefomradir § o 36 & fAee ferg ForfesT qIat

(©) Wﬂﬁﬁ@ﬂéw@aﬁ’%mﬁamm

@ Tefonrgdnt § o’ garar ni WFS f¥g mofes F3ar

The review that involves both the teacher and the pupil is called

(a) The daily lesson review _ (b) Topical review

(¢) Unit plan review (d) Co-operative review

() I U fadhuE ' (b) FEaa fem AEdt gz
() fesrst wma fadhiE (d) wfoardt fsdtaz

The concept that developed from the first experiences with things or event from the
environment is termed as - |
(a) Formal Operational concept (b) Concrete Operational concept
(c) Pre-oP_erational concept (d) None of the above

forar

(2) feegad mdt UIG" (b) BF NSl aEE

(€ YIT-NHS TI' @ Sudwz It &t
The question that leads to expected answer is known as |

(a) Narrow question (b) Broad question

(c) Closed question , (d) Convergent question
yFs frim = Aees €39 o d, aogT Y

(@) FIeS s ) fers s,

() TS () I YRS

The process of Imagination is best supported by
(a) Sharing stories, explanation and descriptions

(b) Opening access to distant practices through excursions, visiting, talking and observing
(c) Empathizing :

(d) Documenting historical developments

ST RS a1ST FeT |

Paper-I (Aptitude Test) 7 11




76. .

77‘

78.

Which of the following is not the characteristic of High order thinking skills?

(a) It encourages students to integrate school knowledge and the knowledge they acquire
outside school. .

(b) It empowers the students with skills that help them to evaluate and negotiate complex
situation. ‘

(¢) It helps the students in rote-playing, 7

(d) It develops students’ creativity to take hold of opportunities presented by the
increasingly varied local and global economic contexts.

ﬁvﬁﬁbﬁﬁ%ﬁaﬁ%@ﬁaﬁ?g’mﬁ%ﬁﬂy?ﬁ% ?

(a) %Mﬁﬂgﬁ%@@ﬂ%ﬁ@ﬁﬂgﬁ%mﬁwﬁga@m,
& AHfo3 395 Bt @3Arfug auet 3

®) %aﬁhmaﬁwﬁ@a#ﬁnjmwmmﬁaaaﬁ%ﬁ@aﬁémnﬁﬁ@
HEIE JI5 w3 8 a5 sfvias &9 AofesT gt 95 |

() feg feforrgdnt' £ ghar f5@s g Hew a9t

) ﬁaﬁ%’smm@&m—ﬁmwmmﬁeagf?ﬁaaﬁa@ﬁﬁ»ﬁéw
95 et fefonadt & F9azHasr o fegm seet I |

Contextualization means .
(@) To make education relevant to local contexts
(b)  Focus on educational reforms,

'(c)  Experiences of the students.

(d) Reading contexts of every topic
YHallags & nigg
(a) ﬁﬁwgwwéww@a
(b) Tt garat °Y eq gEn

(© Feforadt 2 ngse

(d) I feR 2 riwwst § uger

To help the student to deal with the complexity and ambiguity of the content and context of
knowledge, teacher should o,

(a) Manage the classroom properly.

(b) Allow students to disagree with each other while facilitating reflection on why they
disagree. _

(¢) Introduce group discussion in the classroom.

(d) Provide notes of the each topic in a simple language. ‘

ﬁmmﬁﬁmﬂmmb@qﬁméfmm%mmmmEﬁgﬁ@mﬁ

RIS 595 B, niftonug & o

(a) T3 ¥ 3l g1 T yig qge

(b) Qamﬁmeﬁ@aa@%mﬂmaaaﬁawféﬁw%@ﬁqawgﬁagﬁ
3 nAfIHZ I R nrfger 23 3 :

‘(c) 3 99 Ayg feurs wefewr aeger

(d) I feR T Fam 7T %9 Som 23

12 Paper-I (Aptitude Test)




79.

80.

81.

82.

Kelly & Kelly demonstrated that a continued and continuing learning in terms of Pedagogy -
includes

(i) Curriculum & Subject knowledge
(i) Whole school issues _
(iii) Barriers to children’s leaming and how they might be overcome

(iv) Cultural knowledge

(@) (i) &(i) . : (b) (@) & (i)

() (@()&(@v) ‘ (d) All the above
M&éﬁ%mﬁéﬂaﬁm%ﬁmw%mﬁaﬁaﬁﬁm@m
s g Ah@derd ' . |

() v m3 ferr famrs (i) AES T AT He
(iii) ot ¥ fifuz 89 Fa=' (iv) Rfgnread famrs
w3 Guw 3 far §3for v A" J :

(@ (@)™ (i) ®) @3 (i)

© O3 @) @ GuIaz A

To transmit relevant, identifiable and dynamic knowledge in the classroom, which of the
following method is most suitable ?

- (a) Discussion method (b) Project method

(c) Story telling method (d) - Question-answer method
=3 ¥t 9 7

(a) feg9-=e=T feut | () e fedt
© FTd pEge o fedt @) yEs-939 fedt
Ability to retain means _____ : |
(@ Understanding (b) Knowing
- (¢) Explaining (d) Narrating
o oz & TR °F mMidE I
(a) A3 (b) BS
(c) fenfimr &35 (d) TIT> T

Teacher’s assessment of student knowledge needs to
(a) be objective '

(b) bebased on psychology of the students

(c) move from evaluation of simple tasks to more complex level
(d) in written form at every stage.
fofonmaet famrs 2 miftnd € HBiaE 3 -

‘(a) enggaaﬁaa'ﬁ?%

(b) wam’ama@ma _
(c) wa?w%amﬁqﬁzﬁuaéawwﬂ?%
(d o9 g '3 st gu e 9T I 9
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83. The content of student work must be judged on whether students
(a) are writing the sentence properly
(b) have good handwriting
(¢) -are developing their skills of reasoning, analysis and synthesis
(d) have good command on the grammar
fefenrraett 2 chi & femr ot & Bmer 79 T e 3 37 fefomrgdt
(2) <Y 3T 5w R s
(b) foret daft 3
() Ww,ﬁmn@ﬁﬂﬁﬂsﬁﬁsﬁm@@%maaaﬁm
(d) forrsaz 82 S waz d , . :

84. “What is a three sided figure?” is the example of

(a) Explanatory question (b) Reasoning question
() Recapitulatory question (d) Developing question
T Hs-g @ orfaf I @ Gerger 3

(a) forfforrsim yss (b) IS YIS

(©) yStafonrava yms @ feamds yms

85. Lesson plan helps in . .
(a) the removal of difficulties likely to arise during teaching
(b) removal of personal problems of the students while teaching
(¢) the achievement of good scores
(d) the completion of homework

s G FofesT gt 3

(a) w@a%mﬁvﬁae@wmmgw&ﬁg
() WRE S5 fefenmatindt St fisft mifimret geRE fivg
() € nix yuz 9% g -
(d) T = YT 595 g

86. Which method will be most suitable to teach a large number of students ?

(@ Role playing (b) Debate method

(¢) Discussion method (d) Lecture method
ﬁ»@ﬁﬁr%@mmﬁwgwﬁswﬁaﬁwwﬁwm@aﬁ
(a) 3 mifsd fedt (b) 3III-fezex feddt

(c) feo9 wctow fodt (d) Baw9fedt

C _ : 14 Paper-I (Aptitude Test)




87.

89.

90.

Choose the incorrect :

Essay type test helps to .

(a) Induce good study habits in the pupils

(b) Encourage guess work to large extent

() Develop the power of originality of thought

 (d) Organize ideas effectively

I3 S 9 a4

fisdm gt 2re AorfesT o I8

(@) fefmiragingt fg Uzt St ot niez Ter 596 Bt
(b) n@ﬂ?ﬁéﬂéé@ﬁﬂﬁ%@gﬁfﬁ?mw

© feore S e & et @ feam 96 B

(d) ngmmmﬁs‘smsﬁ

Which teaching model brought the student into the scientific process and help to collect
and analysis the data, check out hypotheses and theories ?

(a) Concept attainment model (b) Picture word inductive model
(¢) Mnemonics (d) Scientific Inquiry

(a) Fowu yudl s (b) 3SFEIS-HEE MAHESHI HEH

(c) forfsan (@ fefmrea oo

Reciprocal teaching was designed specifically to teach .

(@) Communication skills (b) Listening and reading comprehension
(c) Writing skills (d) Skill of Explanation
@B@M'ﬁmﬁmyﬁa . & et B St aet A

(2) Fo feles=r ) FUAIHS  HET P UTE

(¢ Touz & fedss @ fefrfnr s & fedssr

Who invented the term Zone of Proximal Development to capture the problem of
understanding the students’ level of development ?

(a) Jean Piaget (b) Edward Lee Ted Thorndike

() Lev Semyonovich Vygotsky -(d)  Erick Erickson '
ﬁﬁnﬁﬁ%fa&m%ﬁwémﬁﬂﬁfﬁwé@maﬁm‘ﬁamm
Rwmiye’ o on fand St A
(2) 75 U3 |
(c) &= Al fegrgraret (@) wfsg mifers
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910

923.

94,

95.

GENERAL KNOWLEDGE / CURRENT' AFFAIRS

What does GM in GM crops stand for ?

(@)  Genetically modified (b) Globally marketed
(c¢) Genetically modernized {d) Globally modernised
GM EF& IR GM T 3w 3 -

(8 vedfia fifts ®) fere-forum sty
(© " mafafys | (d) feme-fonua mirafsfys
Which of the following is the biggest fresh water lake in India ?

(a) Loktak Lake (b) Dal lake

(c}) Sukhna Lake (d) Wullar Lake

95" fef3nft 39" fagdt o93 Re Ag 3t oy udt & Fs 3 .
(a) Iz 5B ®) 35

(9 BuEr Hin : @) T HS

Where in India is the Equitorial Satellite Launch station located ?

(8) Sriharikota () Thumba

(¢) Pokhran _ (d) Hassan

93 5 §3iafln Rowie s mns fad nftg 3

@ Aot e ®) g

() U5 @ Iw

When is the earth farthest from the sun every year 7

(@ 4™ July (b) 21* March

(©) 22" December (d) 3" January

33t 99 A HeH 5% A8 3 pe ad gt 3 9

(8) 4 et (b) 21 Waw

(© 22 fersm ' (d) 3 wsedt

Dandiya is a popular dance of

(@) Maharashtra L (b) Gujarat

(c) Rajasthan o (d) Madhya Pradesh
st {38 & HEg a9 D

(a) HU9HZT M) dJHIT3 T

() TIVFES & @ Moymer

The Rath Yatra at Puri is celebrated in honour of which Hindu deity ?
(@) Jagannath (b) . Siddhi Vinayak

(c) Venkateswara (d) . Mahavir
yﬁﬁ&mmﬁnﬁg@émﬁemﬁ#ﬁ% |

(@) was" : . ) fAdt feme

() <Tmz9 (d) w9
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97.

98.

101

102.

Who is the current Governor of Reserve Bank of India ?

(a) Arun Jaitley (b) Montek Singh Ahluwalia
(¢) Raghuram G. Rajan (d) Pranab Mukharjee

Frgst forae ¥ o HgT RAs9 AE T

(a) nigE ASH ' (b) W iy nrageEinr
(¢) TuIH . IS | (@) yoH HuE

Which of the following is not as essential qualification for contesting election of Lok
Sabha ?

(a) Citizenship of India (b) Soundness of mind -

(¢) Ageof25years - (d) Graduation

ST ST B35 wet ot Rfaet RS ot gt vasT & 3
(1) TI3 T siGAsT (b) forman & ndamr

() 257 € 8Ha @ A

Sir C. V. Raman got Nobel Prize in which of the following field ?

(a) Physics : (b) Medicine

(¢) Chemistry : (d) Peace

A9 . @ m@ﬁﬁ%&%ﬁ%maﬁﬁammmaﬁwﬁ

(a) 3fzx fefomms (b) =t

(c) dInfez feforns | @ w7t

Which of the following is not a natural calamity ?

(a) Earthquake A (b) Nuclear accident

(¢) Tsunami (d) Flash floods

Jot ¥t 55 fradt frx geast wies adt 3 2

(a) IS M) fs8a8 uew

(© maHt @ reERTF

Who was the first speaker of Lok Sabha ?

(a) Hukam Singh . (b) B.R. Ambedkar

(¢) G.V.Malvankar (d) Maulana Abul Kalam

& Ay = ufos mitem dx /i ?

@ T fiw ) .. niEee

© & HERee (d) VEE WEES THH

How many bones are there in an Adults’ body ?

(a) 205 - b) 204

(c) 206 T (@) 207

¥ aer @ wete g R Jtnit Jnif 95

(a) 205 - (b)) 204

() 206 @ 207
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103.

104.

105.

106.

107.

108,

Who is known as the ‘Waterman of India’?

18

(a) H.N. Bahuguna (b) S. L. Bahuguna
(c) Kailash Satyarthi (d) Rajindra Singh
‘TEIHE mE Bdm R I M wlewr e v
(8} W9 Mo §gIET (b) WA WS, TgIE
(¢) o®H Afanygdt (d) dThies fHu
Web pages are written using
(a) HTTP (b) FTP
(c)- URL (d) HTML
29 Un ol 7w 7
(a HTTP T Yy&ia 58 (b) FTP 2 YO &%
() URL ® yGa 3% (@ HTML 2 y&idi 5%
Which is the capital city of Arunachal Pradesh ? .

(a) Guwahati (b) Itanagar

(¢) Gangtok (d) Manipur
WIEEH YoH oF IWaat Afgg T

(a) Tt (b) Faae

(©) dae= @ ratyg

An organization’s introductory webpage is called its

(a) Portal (b) Blog

(c) Homepage (d) Website

foR Frer o middfsa O ot qo@er 3

(a) UICH : (b) T&

(¢) IHTA (d) EFEe

Who was the first person to go into space ?

(a) Yuri Gagarin (b) Lance Armstrong
(¢) Neil Armstrong (d) Buzz Aldrin
y&'3 &g AT o ufos fonast = it

(a) Gdt It (b) &R MrIHRZT
(c) 3B niraHAZI (d) =3 wesfos
Who is the Finance Minister of Punjab ? - .

(a) Anil Joshi - (b) Arun Jaitley

(c) Parminder Singh Dhindsa (d) Bikramjit Singh Majithia
A e e sdt e I 2 .
(a) nif&s vnt (b) »IE A3

(© uIfieq iy Sz (@) a3 fw witshr
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109.

110.

111.

112.

113.

114,

Who among the following has not won an individual Medal in Olympics ?

(a) Leander Paes (b) Saina Nehwal
(¢) K.D.Jadhav (d) Rajwardhan Singh
Jat f¥fant £33 T 3 Bdfux & fomaias 3Har &dt fifanr 9
(a) BT UA ®) Fies 30T
(¢ 4.8 | (d) Tweaus Fu
The 2016 Olympics will be held in
(a) Beijing (b) Barcelona
(¢©) Rio de Janeiro (d) Athens
2016 §3fiux B3t fal Jafnr
(a) difiiar i< o (b) IS &9
(©) FE-sr-dE e (d) zusw e
Indian Institute of Advanced Studies is located at
(a) Shimla ~ (b) Dharamshala
(¢) Chandigarh (d) Solan
v FERdtfz8e nig Misein Agstn fod it 3
(@) T fed (b) ToHE fed
(0 g fer @ Fosfer
King Bindusara belonged to which Indian Dynasty ? '
(a) Gupta (b) Maurya
(¢) Magadha (d) Pandaya
g fifg Ao faA Ir93t we? &% HAUS A 7
(a8 I3 ®b) FHIT
() HI™ @ uEw
‘Which is the largest shipbuilding unit in India ?
(a) Cochin Shipyard (b} Hindustan Shipyard
(¢) Goa Shipyard (d) = Garden Reach Shipyard
mﬁanﬂeﬁma@@iﬁm?éﬂwmﬁ% |
(a) ISt fuwSs (b) fiorzs fuwes
() dmr fess . (@) dI9ss Je fwes
Which is the first talkie film in India ?
(a) Alam Ara ' : (b) Sant Tukaram
(¢) Raja Harishchandra * (d) Pundalik
Fra3 g ufowt zett fam faadt 31 '
(8) Y@M T (b) HI ITTH
(¢) Twr IfEIe @ dsfex
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115.

116.

117.

118,

119.

120.

Narendra Modi is India’s Prime Minister.
. (a) 1 4th (b) 16th
(© 15" @ 13"
Sifegnerggzer___ _ ygwsdEd Y
(a) 14t (b) 168t
(c) 15sF \ (d) 13ef
‘National Constitution Day’ is on :
(a) 26™ January , (b) 2™ October
() 14" April (d) 26™ November
THcS Rfeus foen g Jur
@) 26 Fe=H 3 ® 2 wEgEed
) 14 Mil®3 (d 26 3 RF9F
Which of the following is not a Union Territory ?
(@) Lakshadweep (b) Puducherry
(c} Sikkim : ) " (d) Delhi
J&' fefamft 78 faozr fea dedt arfis yom &1 9 9
(@) ®BIASHY (®) ysoat
(¢ frfan @ f&
Which city is famous for Brahma Temple ?
(@ Pur (b) Kashi
{c) Pushkar (d) Ujjain
foramr afas go g &2t Hinga 3 ¢
(@ st (by &
(©) YRed @ €8s
The longest wall in India expands over 38.5 km. It was built by
(a) Rana Kurhbha (b)  Sher Shah Suri
(¢) RanaSangha (d) Tipu Sultan '
F93 <9 78 3° B4t diTg ac.y HIA T FE JifeR e fsows oo
Fa=ren famr At '
(@ g (b) BT m9 F
(c) TR @ vy Eess
The first train in India ran between .
(@) Mumbai and Pune (b) Kolkata and Siliguri
(¢) Mumbai and Thane (d) Kolkata and Sealdah
93 F9 ufas 38 fegarg It At ,
(@ vEdtny2 (b) B3 WS frtarEt
(c) Huet n3 g (d) TBAZ v ABTT
20
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121.

122,

123.

MENTAL APTITUDE

If daftafoni means advisement

imodafta means misadvise

imolokhi means misconduct
which word could mean statement ?
(a) Kratafoni (b) Lokhidafta
(¢} Kratadafta (d) Lokhimo
34 daftafoni T »igg I advisement

imodafta € »99 J misadvise
imolokhi € WJH J misconduct
XT3 Ha¥ T T statement J FETT I |

(a) Kratafoni (b) Lokhidafta
(¢) Kratadafta (d) Lokhimo

The mean (avérage) of five numbers is 100. If one number, 80 is removed from the list,
what will be the mean of remaining numbers ?

(@) - 110 ®) 95

(© 105 @ 90

e vl & WAS 100D | Aoe ¥ i, 803 HEt R ger fegr e 3 37 el it &
WA o Feaft |

@ 110 (b) 95

(©) 105 @ 90

If in a tournament, every player plays with each other player and the total number of
matches played is 36. How many players participated in the tournament ?

@ 9 ®) 12
(c) 18 ' d 6
few gawiYe fou Ao 99 fustdt g 99s fusrdt &5 s 3 i3 9% 36 W9 83
7 | zaeve fo g s fuadindt 3 f fonr
(@ 9 b 12
© 18 | @ 6
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124.

125,

126.

If a means minus(-), b means multiply(x), c means division() and d means plus(+), what

is the value of [90d 10230 ¢ 10b20] ?
@ 27 () 20

(© 40 (d) 140 |

AT 8 ¥ widE J W (), T T wfgE J AT (x), § © HiEE T I () w3 T o D
W(+)[90d10a30c10b20]eijsa°r%?

(@ 27 (b) 20
(c) 40 (d) 140

Six persons A, B, C, D, E, F are standing in a circle. B is standing between F and C, A is
between E and D, F is to the left of D. Who is between A and F?

(@ B | () D
¢ C (@ E
éé‘%A,B,C,D,E,m%Ffe“aéaaféau%.am B A&d F ni3 C fegara 43 3; A, Em3 D

fegamg 3; F,ED2¥ Y | Anv3Ffegaadz d

(@ B ®) D
© C d E

If the side of a square is increased by 20%, its area will increase by

(d) 20% | ()  40%

() 80% (d) None of the above

A9 991 € 8 37 & 20% =wr fzT famr 3, femer D39es =0 Aar

(a) 20% b  40%
©) 80% (d) 8udas et &t
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127.

128, =

129.

IfA=5,B=6,C=7,D = 8 and so on, what do the following number stand for ?

17,19,20,9,8
(2 MUTED (b) NOTED
() MOPED (d) NUKED

NGTA=5B=6C=7,D=8 3 AT G I s R nig o st 3=

- 17,19,20,9,8

() MUTED | (b) NOTED
() MOPED (d) NUKED
K u 3,
T 20" R* =
10 - 10
(@ 73 ® 719
o 11
© 79 | @ 13
qml‘aqém%aﬁwéw
kK 11
T 20" R**
10 | 10
@ 73 | ® 79
1 - 11
© 7o ' @ 13
Find the wrong number in tﬁe following series.
52,51,48,43,34,27,16
(@ 27 | (b) 43
l .
© 34 | (d 48
a@aﬁﬁimwﬁ@# 51,48, 43, 34,27, 16
(@ 27 |‘ (b) 43
© 34 | " (d) 48
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130,

131.

132,

133.

If the angles of a triangle a°, b° and 77° are in arithmetic progression, what is the value
ofb?

@ 60° ) () 67°

() 70° (d 57° _

Rer foft foiz 2 o o°, be w3 77° v AfES oA T, b E A D
@ 60° ®) 6

() 70° @ s57°

LJH: KKI:: CIA: 7

() CBC | () BIB
(c) DBB (@ BBC
st 2 s 3w 7

LJH: KKI:: CIA: ?

(8 CBC (b) BIB
(c) DBB (d BBC

Which of the following is different from others ?

(3 DCBA " (b) LKJI
() MNOP (& HGFE
(@ DCBA (b) LKJI
() MNOP (d) HGFE

If “ CARPET” is coded as “TCEAPR”, what will be the code for “NATIONAL” ?
@ NLATNOLI (® LNAANTOI

(c) LANOITAN - (d) LNOINTAA |

7@ “CARPET” § “TCEAPR” &5 37 7" 3, 3t “NATIONAL” & 3% J2ar

(a) NLATNOLI (b) LNAANTOI
(c) LANOITAN (d) LNOINTAA
24 ‘ . ‘Paper-l (Aptitude Téct)




134,

135.

136.

The time of Saurabh’s watch is half past nine. If the hour hand points towards east, to
which direction would the minute hand pomt ? '

(a) East _ : (b) North

(c) West ' (d) South .

froe Tt T A AR 3D | A difent @ B yTE 3 fere sed 3 3 fifet @t
get fan ferr & ferrar sddt 2

(a Y& | ' by €39

© UM f @ SuE

In a row of children Sohan is 9™ from the left and Mohan is 13™ from the right. When they
exchange their positions, Sohan becomes 17" from the left. What is the new position of
Mohan ?

@ 21% ®) 18"

(© 21° @ 17"

St & itz 7379 %9, Fos 98 UA T 32 349 3 ¥ i3 Hos AR uR 3 399 899 °3
N 7S 52 vt Afnit & nicew-gu8t J9¢ U6, Ae U8 UR I AIOT dET ©
T 1 o o 5 Afest ot Y 9

@ 218 (b) 183

© 27%F - @ 117

A car takes 6 hours to cover a journey at a speed 45 km/h. At what speed must it travel in
order to complete the journey in 5 hours ? '

‘(a) S4km/h () 52km/h

(© 60kmh (d) 50 km/h
ﬁam4smﬁaﬁ%ﬁam§mmm6u@%ﬁﬁnﬁﬂmasmm
uafaamvse“rﬁms%rﬁmé’r ‘3 IBET U

(2) 54km/h - (b)) 52kmh

(¢) 60km/ (@ S0km/h
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137.

138.

139.

Which of the following indicates the best relation between Judges, Thieves and Criminals ?

(a) O@ (b @O
(c) l : _(d)

@ O@ (b)_@o
© - @ |

Which of the alternatives replaces the question mark ?

Violet-Yellow, Blue-Red, Indigo _?

(a) Green (b) Yeliow
(c) Orange | (d) White
forae feawmu yns fog € reeysst ager 3

Haet - e, St - g, E - 2

(@ T (b) s
(c) 3Irdt (d) AT
Wch of the following is similar to “3, 7, 117 ?

(@ 2,921 (b 4,614
() 2,17,23 @ 4,916
ot fefamit fed foraar <3, 7, 117 @ Ay B

(@ 2,921 (®) 4,6,14

¢y 2,17,23 d 4,916
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140.

141.

142.

If “40” represents BAI, what number will represent APE?

(a 80 () 40
(c) 70 @ 50

5@ “40” BAI 3 TOAT@ 3, fao=r ia APE § SaAr=am

(a 80 | (b) 40

(c) 70 (d 50

Rohan slept at 6.45 pm and wakes up at 12:00 noon, how many hours did he sleep ?
(a) 5 hours 15 minutes (b) 6 hours 15 minutes

(¢) 6 hours 45 minutes (d) 17 hours 15 minutes

éaas:45un§)j’?m§euﬁa-12:00¥ﬁ8w%| Bo s 2 /3T |

(@) SuR 151 , S ) e6ueisfie

© 6u24sfie @ 174215k

In a group, number of girls was more than the number of boys. If¥ 15 are given to each

boy and T 30 to each girl and total of T 465 is distributed, what is the total number of girls
~ and boys in the group ?

(@ 15 . (b) 18

(c) 16 d 19

o Fya s ot S Afk safoot S oo 3 e 1 | Ao 79 8 § 15
B 53 g ni3 T3 Bt 4 30 TR R R w3 B 465 TR W AR | AT S
serlini w3 w3t S g Afeoor 1581 3 S
@ 15 | .(b) 18

(c) 16 @ 19
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143.

144.

145.

If P + Q means P is the father of Q, P — Q means P is the brother of Q, P + Q means P is
the mother of Q and P x Q means P is the sister.of Q. Which of the following does not

show the relation “A is the aunt of B” ? _ |

@ AxC-D+B () AxC=D+B

() AxC-D+B - (d) AxC+D-B

A&T P+Q & nigd 3, PQT AEr I, P-QE n@E I P, QT FT Y, P+ QE »FE I P,
ST I nB Px QE I I PQE BT ¥ 1 Iat fifaurt g o feo My yeafis
&dT F@ “A, B T nite I

@ AxC-D+B () AxC=D+B

© AxC-D+B : d AxC+D-B

A is the father of C and D is son of B. E is the brother of A. If C is the sister of D, how is B
related to E ? ‘

(a) Brother-in-law (b) Husband

(c) Sister-in-law (d) Daughtér
ACTRBTInZ D,BT H Y E, AT 3T J | 59 C, D& 8% 3,37 B, E 57
HEUs 9 | |

(8 FEIfese (b) ust

(c) fAreT fos & d) yzdt

Which number comes next in the series 23,29,31,37,39,45,_7 :

@ 46 (b) 49

(c) 47 (d 53
st 199 » Wi faazr mr@er 9 23, 29, 31, 37, 39,45, 2
(@) 46 (b) 49

(c) 47 _ (d) 53
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146.

147.

Which number replaces the Question mark(?) in the series 15, 22, 29, 36, 2, 50, 57 :

(a) 43 (b) 40
(c) 42 @ 44
qnaﬁasén%%ﬁaarmam@?% 15, 22, 29, 36, 2, 50, 57
(@ 43 (b) 40
(cy 42 d) 44

What comes next in the series ?
BFIL, IMP, PTW, _?__

(a) XBF ' () WAD
(¢) XAE , (d) WBE
ot f&g idt ot nr@er 3 '

BFL, IMP, PTW, ?

(a) XBF (b) WAD
(© XAE . (d) WBE

148.

Which figure comes next in following question ?

R
S

o > o >
L&

-

yrs s @ rEw 2 faosr fosT mear

RN
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149.

150.

Which figure comes next in following question ?

O] 7] -
@ Z . NOR Y
© IZ | (@ ﬂ

yHe 95 @ A 3 fXog 939 niear

N
“ |4 o X
© |Z @ l7|

Here are some words translated from an artificial language.

grana milka means big tree

pini mitka means little tree

milka hoon means tree house
Which of the following word could mean ‘big house’ ?
(a) grana hoon (b) milka grana
(c) pini hoon (d) pini grana
fed g3 mawr o fod g3et o 3 nigeraslsT fapr 3

grana milka T »98 J ¥ T9y3

pini milka 7 9y J £27 T9U3

milka hoon T I8 I Tou3 uG
Jot-fefantt 8 fare nige ‘ST wa” S e 3 |

(a) grana hoon (b) milka grana
(c) pini hoon - (d) pini grana
30
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